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1. news Scive the follzwing recursion relulion,
(a) 5,75, T2 forme & and 5= -3
by 57w vy forez?and s =1
whare & 15 the set of all nennegative integers,

7o A deck of cands conzisis of four scits called ¢lubs, diinonds, hearts and spndes. Each

suil consizss of thirteen cards with valogs A, '2, 3,4 5 6,7,8, 9, 10,0, Q. K. Thers are tour

cards of each vajuz, one fTom each suil. A poker hand s a set ol 3 caids from a 52-card decs

of cards. The order s witch the cards are chosen is ierelevant. A straighl consiais of five cards

whose vitses [orm a conscoulive sequence such a3 5,9,10,0C. The ace A can be al e boltuin

afa sequenca A,2,3,4.5 o7 at the top of a sequence T QKA I'oker hands are classified into

digioint sets as follews,

(a} Roval fush: 16,105, A all in the same suii.

(b} Straight OusloA stzaight all e the same suit that is rot 2 royal Jush.

() Fourof 2 knd:Four cards in the hand have the same value.

(ol Full hruse: Three cards ol ane value and twa cards of another value.

{2y Flush:Five canils all in the sams suit, but nel a royal or siraight flush,

{t) Straight: A atraisht thet 38 not a roval or straight Hdusa

{g]  Threc of a kind: Three cards of cne value, a faurth card of & secend vulue and a lifts
carc cf a third vilue,

(b} Two pairaTwo cards of ane valug, two more cards of a second value and lhe
recaining card a thiod value.

{1} One pairtwo cards of oone vaue, oot not clussiliel above.

(30 Nong noneof the above.

Please couns tae aumber of poker hands for each set from {a) ta (1)

rrti=Ik
() Siow tlar ~ s an equivalent relalion on &N,
by Drawassereh of ¥y that shows e equivalent classus,
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3o Let & 5z the sel of all nonnenative integars, On the set V<& deline <prare-<g = if
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A prapais a tree iF and ooty 10 Lhere is o betwess every paic of vertices in

arapil.

\

Let G be a connected graph willl o vertices and 7 edaes (), Tae wssimum number

of edpes that can be bLreken with coansction among all verGues sl possitls is

Let 5={12,..n}. Definz vti=max{x ] and xey=min{xy}. It is possible Lo deline
Gl and ' sa Liiat (5, 4 0.7 is 2 Boolean afuebra if and only il =
An optimal expression equivalen! ta (x It vIviivz vy s

Let (F he an undirected praph with & compaoncats, 2 veriices am! o oedges. Prove

that sz n =k
Simpiify the expression [ls + O] ln+ O Jm 5.

Letd oz 2 set al siies ans % be a binary relating vn 4 5o that the ercared YT 4T ) s
in 4t i here i3 A communieation link from city @ to city O fur the transmission of
messages. Let 2 be e dransicive sxiension ol 7, £, bo the transitive exlenzion of R,

ard /7 be the transitive closurs of X, Bxplain the practical meanings of 27, K, aad f°
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